VISWABHARATI - GUDIVADA
WORK SHEET -2
Chapters: 6,7,8

Class: X Time: 75min
Subject: Social Studies Marks: 30
Name Class/Sec: Roll No:
I)Answer the following Questions 15x2=30

1. The working age population is the highest in today’s India . What will be the benefits of this?
2. Answer the following questions based on the graph given below.

Graph 4 : Fertility Rate in India, 1961 -2011
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A) What is the fertility rate recorded in 2011?

B) What is the trend of fertility rate during 1961 — 2011?

Why do people migrate from rural to Urban areas?

Prepare two slogans on ‘Control of Population Growth’?

Distinguish between population Growth and Population change?

What is Sex Ratio? Explain. (effect of low Sex Ratio and effect of high Sex Ratio).
Write about the problems of Urbanisation.

How did human life style change with settlement?

© © N o U &~ w

Why are only unskilled and semi skilled workers from India wanted in West Asian countries?
10. What do you suggest to overcome the problems of foreign migrants?
11. How does the migration affect the purchasing power of people?
12. Why do migrants retain the economic ties in rural areas?
13. Why are Embassies set up?
14. Mark the following on the outline map of India.
1) A) Capital City of India B) Visakhapatnam(One seaport of Andhra Pradesh)
C) The place where the sunrises in the last D) One hill station in Niligiris.
(OR)
2) A) The state which has high density of population C) Berhampur
B) The state which has positive Sex Ratio D) Pulicat Lake
15. A)Mark the following on the outline map of the India
A) Highest Peak in Pok area B) Largest delta in India
C) R.Mahanadi D) Kavarati
(OR)
B) A)The great Indian desert B) The birth place of R.Indus
C) One active Volcano D) Malabar Coast



